Practice Final A

Linear Algebra, Dave Bayer, April 25, 2012

[1]	[2]	[3]	[4]	[5]	[6]	[7]	[8]	Total

Please draw a box around your final answer. Please use each printed sheet (front and back) only for that problem, not for any other problem. There are blank sheets at the end of the exam, to give you more room to work. However, your final answer will not be graded unless it appears on the same sheet (front or back) as the printed problem.

[1] Find Aⁿ where A is the matrix

$$\begin{bmatrix} -1 & 2 \\ 3 & -2 \end{bmatrix}$$

$$\lambda_1 + \lambda_2 = -1 + -2 = -3$$
 $\lambda_1 + \lambda_2 = (-1)(-2) - 3 \cdot 2 = -4$
 $\lambda = -4, 1$
 $\lambda_1 = -3 \emptyset$
 $\lambda_1 = -4, 1$
 $\lambda_2 = (-1)(-2) - 3 \cdot 2 = -4$

$$\lambda = -4 \quad A + 4I = \begin{bmatrix} 3 & 2 \\ 3 & 2 \end{bmatrix} \begin{bmatrix} 2 \\ 3 \end{bmatrix} = 0 \qquad A = \begin{bmatrix} 2 & 1 \\ -3 & 1 \end{bmatrix} \begin{bmatrix} -4 & 1 \\ 3 & 2 \end{bmatrix} / 5$$

$$\lambda = 1 \quad A - I = \begin{bmatrix} -2 & 2 \\ 3 & -3 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = 0 \qquad A = (4) \begin{bmatrix} 2 & -2 \\ -2 & 1 \end{bmatrix} + 1 \begin{bmatrix} 3 & 2 \\ 3 & 2 \end{bmatrix}$$

$$A = \begin{bmatrix} 2 & 1 & 3 & 2 \\ -3 & 1 & 1 & 3 & 2 \end{bmatrix} / 5$$

$$S = E = E = E = S$$

$$A = (4) \begin{bmatrix} 2 - 2 \\ -3 & 3 \end{bmatrix} + 1 \begin{bmatrix} 3 & 2 \\ 3 & 2 \end{bmatrix} / 5$$

$$A^{n} = (-4)^{n} \begin{bmatrix} 2 & -2 \\ -3 & 3 \end{bmatrix}_{/5} + \begin{bmatrix} 3 & 2 \\ 3 & 2 \end{bmatrix}_{/5}$$

check
$$n=0$$
 $\begin{bmatrix} 2-2 \\ -3-3 \end{bmatrix}_{/5} + \begin{bmatrix} 32 \\ 32 \end{bmatrix}_{/5} = \begin{bmatrix} 16 \\ 01 \end{bmatrix} = A^{\circ} \emptyset$
 $n=1$ $-4\begin{bmatrix} 2-2 \\ -3-3 \end{bmatrix}_{/5} + \begin{bmatrix} 32 \\ 32 \end{bmatrix}_{/5} = \begin{bmatrix} -1 & 2 \\ 3 & -2 \end{bmatrix} = A^{\dagger} \emptyset$

alternatively, If $A = \begin{bmatrix} -4 \\ 1 \end{bmatrix}$ then $(A + 4I)_5 = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$ $(A + 4I)_5 = \begin{bmatrix} 3 & 2 \\ 3 & 2 \end{bmatrix}_{/5}$ $(I - A)_{/5} = \begin{bmatrix} 2 & -2 \\ -3 & 3 \end{bmatrix}_{/5}$

$$\begin{bmatrix} -1 & 3 \\ 3 & -1 \end{bmatrix}$$

$$\lambda = -4 : \begin{bmatrix} 3 & 3 \\ 3 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ -1 \end{bmatrix} = 0$$

$$\lambda = 2 : \begin{bmatrix} -3 & 3 \\ 3 & -3 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & 1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} + 2 \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1 & -1 \\ -1 & 1 \end{bmatrix} = 0$$

$$A = -4 \begin{bmatrix} 1$$

$$\begin{bmatrix} 1 & 1 \\ 3 & 3 \end{bmatrix}$$

Sum = 4 = trace
$$\Rightarrow \lambda = 0,4$$

 $\lambda = 0: \begin{bmatrix} 1 & 1 \\ 3 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ -1 \end{bmatrix} = 0$ $A = \begin{bmatrix} 1 & 1 \\ -1 & 3 \end{bmatrix} \begin{bmatrix} 0 & 4 \end{bmatrix} \begin{bmatrix} 3 - 1 \\ 1 & 1 \end{bmatrix} /_{4}$
 $\lambda = 4: \begin{bmatrix} -3 & 1 \\ 3 & -1 \end{bmatrix} \begin{bmatrix} 1 \\ 3 \end{bmatrix} = 0$ $e^{At} = \begin{bmatrix} 1 & 1 \\ -1 & 3 \end{bmatrix} \begin{bmatrix} e^{0t} & e^{Ht} \end{bmatrix} \begin{bmatrix} 3 & -1 \\ 1 & 1 \end{bmatrix} /_{4}$
 $e^{At} = \begin{bmatrix} 3 & -1 \\ -3 & 1 \end{bmatrix} /_{4} + e^{Ht} \begin{bmatrix} 1 & 1 \\ 3 & 3 \end{bmatrix} /_{4}$
 $de^{At} = A$ d

Alternatively,
$$A = (4-A)/4 = A/4$$

same in any coords $\begin{bmatrix} 00 \\ 04 \end{bmatrix} = \begin{bmatrix} 10 \\ 00 \end{bmatrix} = \begin{bmatrix} 00 \\ 01 \end{bmatrix}$
 $\begin{bmatrix} 11 \\ 33 \end{bmatrix} = \begin{bmatrix} 3-1 \\ -31 \end{bmatrix} = \begin{bmatrix} 11 \\ 33 \end{bmatrix}/4$

[4] Find e^{At} where A is the matrix

$$\begin{bmatrix} 1 & -1 \\ 1 & 3 \end{bmatrix}$$

Sum = 4 = trace
$$Prod = 4 = det$$
 $\Rightarrow \lambda = 2,2$ $A-2I = \begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $V_2 \stackrel{A-ZI}{\mapsto} V_1 \stackrel{A-ZI}{\mapsto} O$
 $\begin{bmatrix} 1\\ 0 \end{bmatrix} \stackrel{[-1]}{\downarrow} \begin{bmatrix} -1\\ 1 \end{bmatrix}$
 $(A-2I)V_2 = V_1 \quad AV_2 = V_1 + 2V_2 \quad So \quad \begin{bmatrix} 2\\ 0\\ 2 \end{bmatrix}$
 $(A-2I)V_1 = O \quad AV_1 = 2V_1 \quad V \leftarrow V$
 $A = \begin{bmatrix} -1\\ 1\\ 0 \end{bmatrix} \begin{bmatrix} 2\\ 0\\ 2 \end{bmatrix} \begin{bmatrix} 0\\ 1\\ 1 \end{bmatrix}$
 $e^{At} = \begin{bmatrix} -1\\ 1\\ 0 \end{bmatrix} \begin{bmatrix} e^{2t} te^{2t} \\ 0 \end{bmatrix} \begin{bmatrix} 0\\ 1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0\\ 0 \end{bmatrix} + te^{2t} \begin{bmatrix} -1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1-1\\ 1 \end{bmatrix}$
 $e^{At} = e^{2t} \begin{bmatrix} 1\\ 0 \end{bmatrix} + O\begin{bmatrix} 1\\ 1 \end{bmatrix}$

alternatively,
$$A = \begin{bmatrix} 20 \\ 02 \end{bmatrix} + \begin{bmatrix} -1 & -1 \\ -1 & 1 \end{bmatrix}$$
 where $\begin{bmatrix} -1 & -1 \\ 1 & 1 \end{bmatrix}^2 = 0$

$$e^{At} = e^{\begin{bmatrix} 20 \\ 20 \end{bmatrix}} t e^{\begin{bmatrix} -1 & -1 \\ 1 & 1 \end{bmatrix}} t$$

$$e^{At} = e^{2t} \begin{bmatrix} 10 \\ 01 \end{bmatrix} (\begin{bmatrix} 10 \\ 01 \end{bmatrix} + \begin{bmatrix} -1 & -1 \\ 1 & 1 \end{bmatrix}) t + \begin{bmatrix} -1 & -1 \\ 1 & 1 \end{bmatrix}^2 t^2 /_2 + ...$$

$$e^{At} = e^{2t} \begin{bmatrix} 10 \\ 01 \end{bmatrix} + te^{2t} \begin{bmatrix} -1 & -1 \\ 1 & 1 \end{bmatrix}$$

$$e^{At} = e^{2t} \begin{bmatrix} 10 \\ 01 \end{bmatrix} + te^{2t} \begin{bmatrix} -1 & -1 \\ 1 & 1 \end{bmatrix}$$
where on here on

[5] Express $x^2 + 6xy + y^2$ as a linear combination of squares of orthogonal linear forms.

$$[x + y] \begin{bmatrix} 1 & 3 \\ 3 & 1 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix} \qquad \text{Sum} = 2 = \text{trace} \\ \text{prod} = -8 = \text{det} \qquad \lambda = -2, 4$$

$$\lambda = -2 : \begin{bmatrix} 3 & 3 \\ -3 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ -1 \end{bmatrix} = 0$$

$$[x + y] \begin{bmatrix} 1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} -2 & 4 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix}$$

$$= \begin{bmatrix} x - y & x + y \end{bmatrix} \begin{bmatrix} -2 & 4 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 & -1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix}$$

$$= \begin{bmatrix} x - y & x + y \end{bmatrix} \begin{bmatrix} -2 & 4 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} x - y \\ x + y \end{bmatrix}$$

$$= \begin{bmatrix} -(x - y)^2 + 2(x + y)^2 \end{bmatrix}$$
Checks:
$$x - y = (1, -1) \cdot (x, y) \quad \text{forms are orthogonal} \quad \text{forms are orthogonal$$

[6] Convert the differential equation y'' - 3y' + 2y = 0 to matrix form, and solve by exponentiating.

$$\begin{array}{l} y_{1} = y \\ y_{2} = y' \end{array} \Rightarrow \begin{array}{l} y_{1}' = y_{2} \\ y_{2}' = -2y_{1} + 3y_{2} \end{array} \qquad \begin{bmatrix} y_{1}' \\ y_{2}' \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -2 & 3 \end{bmatrix} \begin{bmatrix} y_{1} \\ y_{2} \end{bmatrix} \\ \text{Sum} = 3 = \text{tvace} \\ \text{prod} = 2 = \det \end{array} \qquad \lambda = 1, 2 \qquad \text{check:} \qquad (\lambda - 1)(\lambda - 2) \\ = \lambda^{2} - 3\lambda + 2 \\ \Leftrightarrow (D^{2} - 3D + 2)y \\ = y^{\parallel} - 3y^{\parallel} + 2y \end{cases}$$

$$\begin{array}{l} \lambda = 1: \left[-\frac{1}{2} \right] \begin{bmatrix} 1 \\ -2 & 2 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = 0 \qquad A = \begin{bmatrix} 1 & 1 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} 1 & 2 \end{bmatrix} \begin{bmatrix} 2 - 1 \\ -1 & 1 \end{bmatrix} \\ e^{At} = \begin{bmatrix} 1 & 1 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} e^{t} \\ e^{2t} \end{bmatrix} \begin{bmatrix} 2 - 1 \\ -1 & 1 \end{bmatrix} \\ e^{At} = e^{t} \begin{bmatrix} 2 - 1 \\ 2 - 1 \end{bmatrix} + e^{2t} \begin{bmatrix} -1 & 1 \\ -2 & 2 \end{bmatrix} \\ \text{(III)}, A \text{ (III)} \end{array} \qquad \begin{array}{l} \Delta = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} + \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right] \begin{bmatrix} 1 & 1 \\ 2 & 1 \end{bmatrix} \\ e^{At} = \left[\frac{1}{2} \right$$

[7] Find e^{At} where A is the matrix

$$\begin{bmatrix} 1 & -4 & 2 \\ 0 & 2 & 0 \\ 0 & -2 & 3 \end{bmatrix}$$

We could see $\lambda=1,2,3$ by block triangular structure.

We could see
$$\lambda = 1, 2, 3$$
 by block triangular structure.

Or,

 $\begin{vmatrix} 1 - H \\ 0 & 2 & 0 \end{vmatrix}$
 $-\det |A - \lambda I| = \lambda^3 + \tan(A)\lambda^2 + \frac{1}{4}\lambda - \det(A) = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 6\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12\lambda^2 + 11\lambda - 6 = 0$
 $\lambda^2 - 12$

[8] Find e^{At} where A is the matrix

$$\begin{bmatrix}
 1 & 1 & 0 \\
 -2 & 4 & 1 \\
 2 & -2 & 0
 \end{bmatrix}$$

$$\begin{bmatrix}
A-1 & A-21 & A-21 \\
-2 & 3 & 1 \\
2 & -2 & -1
\end{bmatrix}
\begin{bmatrix}
1 & 0 \\
-2 & 2 & 1 \\
2 & -2 & -2
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 \\
0 & 0 & 0 \\
-2 & 2 & 2
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 \\
0 & 0 & 0 \\
-1 & 2 & 2
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 \\
0 & 0 & 0 \\
-1 & 2 & 2
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 \\
0 & 2 & 2
\end{bmatrix}$$

$$A = \begin{bmatrix}
1 & 1 & 0 \\
0 & 1 & 1 \\
2 & 0 & -1
\end{bmatrix}
\begin{bmatrix}
1 & 2 & 1 \\
2 & 1 & -1 \\
2 & 0 & -1
\end{bmatrix}
\begin{bmatrix}
1 & 2 & 1 & 0 \\
2 & 1 & -1 & 1 \\
2 & -1 & -1 & -1 \\
2 & -2 & 1 & -2 & 1
\end{bmatrix}$$

$$\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & 1 \\
0 & 1 & 1 & -1 & -1 & -1 \\
0 & 0 & 0 & -1 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
1 & 0 & 2 & 1 & 0 \\
2 & 1 & 1 & 0 & 1 & -1
\end{bmatrix}$$

$$\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & 1 \\
0 & 1 & 1 & -1 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
2 & 1 & 1 & 1 & 2 & -1 & 1 \\
2 & -1 & 1 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & 1 \\
0 & 1 & 1 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 & 1 & 1 & 2 & -1
\end{bmatrix}
\begin{bmatrix}
-1 &$$